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Section A. Answer all the question.
1. Twenty-five thousand and fifteen in words is
A. 25 025

B. 25 015

C. 25 050

D. 25 505


2. 2       in words

A. Two one over two
B. Two and one over two
C. Two two over one
D. Two and two over one

3.         in words
A. Two three
B. Two of three

C. Two above three
D. Two over three

4.        The bold digit is known as 
A. numerator
B. nukleator

C. denominator
D. instructor
5. State the place value of digit 6 in the number 56 207

A. Ones

B. Hundreds

C. Thousands

D. Ten thousands

6. State  value of digit 7 in the number 87 455

A. 7

B. 70

C. 700

D. 7000

7. Which of the following is improper fraction
A. 3
4

B. 5
6

C. 6
5

D. 7
9

8.  Choose  the largest  number

A. 28 415
B. 28 451

C. 28 515

D. 28 615

9. Which of the following is the largest fraction
A. 1
2
B. 1
3
C. 2
6

D.  5
12

10. Choose the correct extended notation  for 57 098
A. 50 000  + 7 000 + 90 + 8

B. 50 000 + 7 000 + 900 + 80

C. 50 000 + 7 000 + 900 + 90 + 8

D. 50 000 + 7 000+900 + 80 + 8

11.  Which is the correct compose for

70 000 + 900 + 80 + 9

A. 7 989
B. 70 989

C. 79 890

D. 79 999

12.  Choose the correct equivalent fraction

for 1
      3
A. 4
5

B. 4
6

C. 3
12

D. 4
12

13.  Round off 42 312 to the nearest  thousand
A. 40 000

B. 42 000

C. 42 300

D. 43 000

14. Give the simplest form 
for 6

      9

A. 2
3

B. 2
4

C. 3
4

D. 3

5

15. Give the simplest form 
for  6
      12
A. 1
2

B. 1
3

C. 2
3

D. 3
4
16.  Find the missing digits

11 200, 11 400, _________, 11 800, 12 000

A. 11 100

B. 11 300

C. 11 600

D. 11 700

17.  Convert  8 to mixed numbers
                5


A.  1

B. 1


C. 2

D. 2
18. Arrange the numbers in  descending order

11 340, 15 670, 12 100, 11 230, 20 200

A. 11 230, 11 340, 12 100, 15 670, 20 200

B.  15 670, 20 200, 12 100, 11 340, 11230
C. 20 200, 15 670, 12 100, 11 340, 11 230

D. 20 200, 12 100, 11 230, 11 340, 15 670 
19.  Find the sum of 12 501 and 7 073

A. 19 574
B. 19 584

C. 19 600

D. 19 684

20. Find the difference between 75 006 and  
 4 213

A. 70 733

B. 70 693

C. 70 793

D. 70 893

21.   15 600 - __________ = 600

What is the missing number?

A. 14 000

B. 15 000

C. 16 000

22.    3     +     2   =
  7            7
A. 5
7

B. 5
14

C. 6
7

D. 6

14

23.   4     +     2   =
 5            10

A. 1
B. 2
5

C.  3
10

D.  6

10

24.    3     +   1    =

   7          4      
A. 12
15

B. 18
15

C. 19
28

D. 21

24

25.   12 345 – 1000- 23 =

A. 11 222

B. 11 322

C. 11 422
26.  Find the product of 2 300 and 8

A. 17 400

B. 18 400

C. 19 400

27.   1     +   1   =
  8          8
Answer in simplest forms
A. 1
3

B. 1
4

C. 2
3

D. 2

5

28.    21 912 ÷ 6 =
A. 1 652

B. 1 525

C. 2 652

D. 3 652

29.  Kamal has  1 379 red roses, 1 055 white roses and 907 pink roses in his garden. How  many roses are there altogether?

A. 2 341

B. 3 341

C. 4 341

D. 4 431

30.  20 345 adults left  the country last month. 12 000 were men. How many were  women?

A. 8 345

B. 8 545

C. 9 345

D. 9 355
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